KCL

50T&150T Series Single Pump Ordering Code
50T & 150T & 7| & 278845 3

50T
150T
Delivery Flow (¢ /mingt no-load pressure] Running Speed Weight(Kg)
S 2 B A 7 (rpm) ek & i 124312 Pfj"ss?r;
. ; gf/cm
ﬁ .

Model Running Speed  (rpm) #&% I\E'/Iax I\E‘/Im Foot Type Fl?n%?_ Type| BAEES

P 1000 | 1200 | 1500 | 1800 | HAN | EN | gppms | cxmand
09 — 10.8 13.5 162 | 1800 950 10 9.5 105
12 12.0 14.4 18.0 21.6 | 1800 950 10 9.5 105
14 14.6 17.5 217 | 26.1 | 1800 950 10 9.5 105
17 17.0 203 | 255 31.5 | 1800 950 10 9.5 105
19 19.2 23.0 | 288 | 346 | 1800 950 10 9.5 105

50T [ 21 21.1 25.3 31.7 38.0 | 1800 950 10 9.5 105
23 230 | 276 | 345 | 414 | 1800 950 10 9.5 105
26 262 | 314 | 393 | 472 | 1800 950 10 9.5 105
30 30.1 36.1 452 | 540 | 1800 950 10 9.5 105
36 362 | 434 | 543 — 1500 950 10 9.5 70
40 415 | 498 | — — 1200 950 10 95 70
48 483 | 579 | 724 | 869 | 1800 900 24 24 90
61 61.5 73.8 | 922 | 1107 | 1800 900 24 24 90
75 752 | 90.6 | 1132 | 1359 | 1500 900 24 24 90

I50T oz [ 942 | 113.0 | 1413 | — | 1500 | 900 24 24 70
116 | 1163 | 1396 | — — 1200 900 24 24 70
125 | 1253 | 1504 | — — 1200 900 24 24 70

ORDERING CODE 37835 9]
(D—— Series Number(#! 3%)
50T-12-F-R R-01 50T-
DO ®@®@B6G O 10T

@ —— Piping Mounting( % o # &)
T: Piping Type(# 4 F a) F: Flange Type(GE A )
®—— Capacity Mark: (c.c/rev)(GR &)
50T:09,12,14,17,19,21,23,26,30,36,40
150T:48,61,75,94,116,125

Flange Type( 2% # X)
L: Foot Type(fp & #l)

@——
F: Flange Type(ik i§A!)

(3)—— Shaft Rotation(« #4325 )
(Viewed From Shaft End)

R: Clockwise (JgeF4t)

(6—— Discharge Port Position( % & 4 & )
(Viewed From Shaft End)
R: On Right Hand( %)

L: Anti-Clockwise( &R 854t)

L:On Left Hand (normal( £ )

(D—— Shaft Type(:s#h#48)  01: No.0l Shaft

02: No.02 Shaft




KC T 50T&150T Series Single Pump Dimensional Drawing
50T & 150T % 7] & $h 2 R ]

50T (Foot Type)#ép f A A | B |C|D|E
NO.01-Shaft [#19.05] 36.0 | 4.76| 21.3| 32
56 NO.02-Shaft | 22.0 | 46.0 | 5.0 [ 24.0] 30.0
NO.04-Shaft | Splined Shaft 140
ﬁ_ ‘ o Py
== Suction Port Discharge Port
(N = <
g v — [ § .O |
s €
B 4-¢11 HOLE 0
| L @24 Spot facer 1 Deep 0
S A
50 | 295
93
e A B c| D] E F
50T (Flange Type)ix i & NO.01-Shaft |819.05] 36.0 | 4.76| 21.3| 32 | $95.02
NO.02-Shaft | 22.0 [ 46.0 | 5.0 | 24.0| 30.0 | ©96.02
NO.04-Shaft | Splined Shaft
140
36
99 50 9 B 119
15 90 102 -
- — —_— T
[ N EN
E_|s \V% \V%
% =23 Shaft NO:04
( < A & D H CP.1.633
— Y L N 5% Pressure Angle 45°
| 4-911 30 Teeth
150T (Foot Type)#sp f A
s 199.5
| [ PT11/4"
é o§ PT 1 1/2" \@(% / Discharge Port
¥
/\ I Suction Port NL b= =
~
Sham: an == S C} 2 v
i %% L=} _ ) 2
K
N 4-¢13.5 HOLE =
4 | $25.4 Spot facer 1 Deep -
T T T T =
114 13 50 50
140 [ 197 .

226

150T (Flange Type)i% Al

236

60 _° 43

f_ 35,14
g _: ?% I—T Cf' -
s 35_ %% $§$§ s| 9

= B @13.5x6 HOLE
PCD9187.5




KCL

50T&150T +PA Series Pump Ordering Code
50T & 150T+PA A& %] & 3T %45 3]

50T+PA
150T+PA

(D—— Series Number(#! 3% )
50T-
150T-

@—— Piping Mounting( % a # &,)
T: Piping Type(¥4& % v )  F: Flange Type(Gk &)
B®—— Capacity Mark: (c.c/rev)(GR &)

50T:09,12,14,17,19,21,23,26,30,36,40
150T:48,61,75,94,116,125

®—— Flange Type

L: Foot Type(#p A ) F: Flange Type(ik @ &)
(3®—— Shaft Rotation(« $h#% &) )
(Viewed From Shaft End)
R: Clockwise (JE8F4t) L: Anti-Clockwise( R B54t)
(©®—— Discharge Port Position( 3 o 41 & )
(Viewed From Shaft End)
R: On Right Hand(#%) L:On Left Hand (normal)( £ )
D— (R 5%) Model | Capacity
PAl 1.07 High-Pressure
PA2 2.02 Gear Pump
PA3 3.01 (Cover End)
PA4 4.01 (c.c/rev)
PAS 6.05

(®—— Shaft Type(-w#h#&%7) 01: No.01 Shaft
02: No.02 Shaft




KCL

50T&150T +VQ15Series Pump Dimensional Drawing
5| % 9 A R~ ]

50T & 150T+VQI5 4

50T+VQ15 (Foot Type)#sp pz A A | B |]C|]DJ|E
Q ( yp ) Pf- i NO.01-Shaft |#19.05] 36.0 | 4.76| 21.3| 32
NO.02-Shaft | ®22.0 | 46.0 | 5.0 | 24.0( 30.0
NO.04-Shaft | Splined Shaft
e e Ol
—E— 4-911 HOLE % 0
| Y @24 Spot Facer 1 Dee
1T T T Tl 2
50 29.5 —IiLl 116+8§ Lﬂ.-—
2 145
e A|] B |C]|DJ|E F
50T+VQI15 (Flange Type)ix i & NO.01-Shaft |#19.05] 36.0 | 4.76| 21.3| 32 | 995.02
SUCTION PORT $30.8 4-M8x1.25P NO.02-Shaft ¢224.0 46.0 | 5.0 | 24.0| 30.0 | ©96.02
DEEP 15 NO.04-Shaft | Splined Shaft
415, 565 162 B 140 36
! 50 5 119 5
DISCHARGE = 50 02 PDTBk/14“ T
PORT®15 L - PT '1” g ﬂ [ Discharge Por
S Suction Port 7 N
S LE_S| ¥ \{
g SR EED 2 VAR
TR YT
1 = Shaft NO:04
71 '] DA ﬁ &) U cp.1.633
- — - P Angle 45°
o/ ﬂ won /T N gy e
26.2 17.5 DEEP 19
150T+VQ15 (Foot Type)#sr i 74
56 199.5
o 15 ] _ PT 1 112" PT 11/4"1
7] ﬁﬂ \ o <& Suction Port \@6% Discharge Port
|"a | | + 5
/ \ fll\ \ e ? “ :I: 9 f \ 2 )
\%/%zl” N/l S SR e e
B )1 / 4-813.5 HOLE 3
%_E_- ©25.4 Spot Facer 1 Deep =
i T . I "I;(')I‘ =
114
140 [ 197 !
26
150T+VQI15 (Flange Type):k i A
365
565 152 60 5 43 13.5x6 HOLE
| | PCD 61875
SUCTION PORT py1s CHARGE 5
#30.8 PORT¢15\ = Ld
| 35
o /_ |‘__:|..§
g~ N\ ?\\ (( ﬁ s il =
sl N / I = S K% 493
NS 2fee S
4-M10x1.5P_/ & L
DEEP 17 26.2
M8x125P
DEEP 15




KCL

50T.150T+VQI15 Series Pump Ordering Code
50T & 150T + VQI5 % 7] % & 37 845 7

50T+VQI15
150T+VQI15
ORDERING CODE =7845 3|
S0T-36-L RR-V1- 17- 01
D0 ® ®@O® ® ©

(D—— Series Number( & &)

S0T-
150T-

@—— Piping Mounting( % 2% &)
T: Piping Type(% 4 F¥ 1) F: Flange Type(GE g #))

(®—— Capacity Mark: (c.c/rev)(GR &)
50T:09,12,14,17,19,21,23,26,30,36,40
150T:48,61,75,94,116,125

@—— Flange Type(Z# # &)

L: Foot Type( & #) F: Flange Type(ik § %)

(®—— Shaft Rotation(« k32 & )
(Viewed From Shaft End)

R: Clockwise (JE8F4t)
(®—— Discharge Port Position( f & 4L & )

(Viewed From Shaft End)
R: On Right Hand(#%) L:On Left Hand (normal)( £ )

L: Anti-Clockwise( R 8%41)

(D— Hi - pressure Fixed Vane Pump(Cover End)(#73% %! 5% )
V1:VQI5 Series

(®—— Hi pressure Fixed Vane Pump (Cover End) (#4784 &)

Capacity Mark (c.c/rev)
6, 8 11, 14, 17, 19, 23, 26, 31

01:No.01 Shaft

(©®—— Shaft Type( - #hfE48)
02:No.02 Shaft




KCL

50T&150T +PA Series Pump Dimensional Drawing
50T & 150T+PA % ) & 4h A R~

N A B C D E
|
50T+PA (FOOt Type)%PF:Ei‘ NO.01-Shaft [#19.05| 36.0 | 4.76 | 21.3| 32
NO.02-Shaft | 822.0 | 46.0 | 5.0 | 24.0( 30.0
140
- |
=£—| 5
I R
Y | "} " ffci\\ g =
t-ﬂw:j s%w$
& 4-¢11 HOLE % "
/ 824 Spot Facer 1 Deep “
T Tl T i Tl 12
50 1295 47 1602 4L
-0.2 !
23 145
- Al B [C]DJE F
50T+PA (Flange Type)i% i &Y NO.01-Shaft [#19.05] 36.0 | 4.76] 21.3| 32 | $95.02
NO.02-Shaft | 22.0 | 46.0 | 5.0 | 24.0 | 30.0 [ ¥96.02
80 PT 1" 140
63.6 207 B Suction Port 119
470071 18 50 3 90 3 PT 3/4"
L [ - Discharge Port
Sq —E_ 22N AN
- -6t s = \/( %\/ L
<t S | | - - ~
P+ - +§ 2 ﬁs o2 e f\/% 2772
%/ IRERlINZ The Pyl
A T
) B < | A iy Pany
+0.021 \ _ 4-M8x1.25P - U L] N\ N2Y
812510 o R 4911
150T+PA (Foot Type)#sp iz A
56 199.5
B PT 1 12" PT 11/4"
é Suction Port Discharge Port
i\ & /
B \J T—+ 2 C} 2 9
8 hY 2
i ||| = =
4-¢13.5 HOLE =
©25.4 Spot Facer 1 Deep -
[T i %’ T =
114 50
140 197
' 226
150T+PA (Flange Type)i% pf A
235
172 43 #13.5x6 HOLE
63.6 PCD ¢187.5
4+0,021 15
_'+()
s
= g — ﬁ |‘3_5_‘_|_.§ g
$2 9 : — ds
e § 9 g
W <
@12.5 t8.021 s @

M8x1.25P




K C T 50T&150T +TSP Series Pump Dimensional Drawing
50T & 150T+TSP & %] %& s8R R~

A B C D E

50T+TSP (Foot Type)#ép & Al NO.01-Shaft |819.05] 360 | 4.76| 21.3| 32
NO.02-Shaft | $22.0 | 460 | 5.0 | 24.0] 30.0

140

+0
-0.021
I
|
|
|

©
0

t |
4-811 HOLE ©r
@24 Spot Facer 1 Deep
T Tl TIT IT 2
5093 29.5 -f*—L—I 116102 I-—r—
145
Sk &5 1) A B C D E F
50T+TSP (Flange Type)ix i A NO.01-Shaft [#19.05] 36.0 | 4.76| 21.3] 32 | 995.02
NO.02-Shaft [®$22.0 | 46.0 [ 5.0 [ 24.0] 30.0 | ©96.02
PT 1" 140
106 s 212 B Suction Port 119
4 1001 2 50 5 90 *93 PT 3/4"
——t—— 15 / Discharge Port
\\

FY

17.879"
N
—— N

N
96
$82.55 1903
N—
8125
7
%

o

¥
(=3
(=2}

J
]
}
L.
0.03
Emm=:
LN
A\ %4
N
Jﬁf/
Fany
1 AV
I~
850
119

-0.02]]
+0
D -0.12

+0

Q\WM | | My
\@15.88 001 4211
2-M10x1.5P

DEEP 15

A

150T+TSP (Foot Type)#sp & A

56 199.5
] B PT 1 1/2" K\ PT 11/4"
o§ Suction Port Discharge Port
A . \@(/i}@/ a1
N =@<Z)é\= :
/ 4-913.5 HOLE 2
3 ©25.4 Spot Facer 1 Deep -
T ini N =
114
L
226
150T+TSP (Flange Type)i* i &
288
$13.5x6 HOLE
172 43 PCD ¢187.5

+0.021
619

15

35

1

\

fan
)

8170

-M10x1.5P
PCD®106

\
¢30+(;)021
33 j58.1(,
@160
[ A lmﬁx A
O@




